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418,993
401,203
401,203
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176,088
153,339
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3,720,000
1,665,000
2,550,000
2,000,000
4,300,000
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4,300,0009 * 1aL =

1,665,000
2,550,00091 = 13l =
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4,300
231

26,979
12,300
19,140
456
6,601
17,790
17,790
17,790
17,790
15,410
14,761
14,761
14,041
12,922
1,119
720
720

26,979
14,300
23,440
456
6,601
17,790
17,790
17,790
17,790
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14,761
14,761
14,041
12,922
1,119
720
720
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2. PR LE5Y 880 649 231
1. 72k 122 122 0
1. A ) 2o 122 122 0
1. A2k 2o 122 122 0
2. 716184 8% 549) 758 527 231
1.01249] 693 527 166

1.0 244 693 527 166| 01 A4+ ¢ 165,550 #13]= 166,000
2. 71Et BS54 Y 65 0 65

1.7 4 &5 59] 65 0 65| H A&zt ¢ 65,00099%13] = 65,000
3. 71EH4 6,204 6,204 0
1. Azl g3 6,204 6,204 0
LaeAASSF 6,204 6,204 0
1.eAAY A= 6,204 6,204 0
1.AAIY A= 6,204 6,204 0
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